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m2 2, 250 3,429 7,715, 250
sk S (R T B ) 7277 bk CHTHIEL)
[#T#]
m3 114 1,516 172, 824
WALSY 7277 bk CETHIED)
[#1#]
m3 114 5, 853 667, 242

ELxzwmE  AeH R g 5




N 2

THX Sy - THE - RSB - HBl MoK & A HAm il i E (A5
j‘—/f —V{L
0 0
F g (8 - B T) BRI EEAs (20T) U IR Al
mm EIE E 3. Omid
0 2,381 0
T Tl T
[pu A X ]
1 4,829, 394
T - Z518 ¢ RPN-301
[% ]
678 7,123 4,829, 394
TA7 7 MR EEA & T
[/ EHIX]
1 9,952
77y ) JVER 17974y -h W=500 " 7 Ak
[% ]
8 1,244 9,952
TA7 7 MR EEA & T
[ 2% X ]
1 108, 192
77y ) JVER 17974y -F W=500 " 7 Akl
98 1,104 108, 192
TA77 v MR EEA & T
[pu A X ]
1 186, 600
77y ) JVER 17974y -N W=500 " 7 Ak
[% ]
150 1,244 186, 600
X R T
1 1, 288, 554
X T
0 0
A A b R AR AR FERR(A) 15em
R
0 138.2 0
X R T
[ X ]
1 5, 376

[ -rxmd A R




N 2

it

£

T XSy - AR - FEB - MBI B BRI RAL K & B HA & # (GBS
Ay bR AR KR FERR () 15em
R
[#[#]
m 32 168 5,376
X L
[7 EHIX]
= 1 10, 453
Ay bR A AR KR FERR (A1) 15em
R
[#[#]
m 47 168 7,896
Ay bR A AR KR BERR (A1) 15em
IED
[#1#]
m 12 213. 2, 557
X TR L
[ 5% H X ]
= 1 334, 607
TR X R WA TFE) FEH 15em E1. Omm
A i 4 d
m 44 302. 13, 296
A =S X R R FE ¥ 77 45cm JE1. Omm
A i 4 d
m 23 747. 17,190
TR X R AT E) AR 45em E1. Omm
A i 4 d
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3tk 4X4(H#R) Fyn 2. 5m3 ATG
wh
IRE ] 10 16,814 168, 140
BRI BT BT 522-2271 7R (20~5HKF)
3tk 4X4HzR) Fyn 2. 5m3 ATG
HE
IRE ] 30 18,239 547, 170

ESiR e RN | e LW T




N 2

it

£

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & | T (GEEM)
A B L A AT Fhk 5222271 158 (5~8H#F) 3
thk 44 FEX) Kyn 2. 5m3 ATG
=82
FRE 5 16, 814 84, 070
REIGEEE L
= 1 1,018, 035
IS
= 1 1,018, 035
B T
= 1 65, 067, 053
B:S LT ¢
= 1 9,719, 727
Bl e ¢
= 1 58, 606
Htre m
= 1 58, 606
JH [ 9t R B E AR Y
= 1 58, 606
HimE R (FE L)
= 1 9,661, 121
Wi
= 1 74, 786, 780
BTk X=giiv oy
= 1 37, 646, 776
R 5]
= 1 112, 433, 556
— e
= 1 18, 982, 807
T HAlik
= 1 131, 416, 363

[ rxmd A R




HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
TH & B 2 %8
= 1 13, 141, 637
TG
= 1 144, 558, 000

-6 - [ rxmd A R



